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INSTRUCTIONS TO CANDIDATES

This Booklet contains 200 questions in all comprising the following
three tests :

Test (i) : Generallntelligenceand Reasoning (50 Questions)
Test (i) : General Awareness (50 Questions)
Test (iii)* : Part A : General Engineering (100 Questions)
(Civil and Structural)
OR
Part B : General Engineering (100 Questions)
(Electrical)
. OR .
Part C : General Engineering (100 Questions)
(Mechanical)

In questions set bilingually in_ English and Hindi, in'case of
discrepancy, the English version will prevail.

Test (i) General Intelligence and Reasoning and Test (i) General
Awareness are compulsory for all the candidates. Candidates are
required to anen_lrt only one Section in Test ém% General Er;%meermg
ie. Part A Civil and Structural OR Part B Electrical OK Part
Mechanical as per option in the application form given by the
candidates failing which you will be awarded ‘ZERO’ mark.

Al questions are compulsory and carry equal marks.

The paper carries negative marking, 0-25 marks will be deducted for
each wrong answer. :

Before you start to answer the questions you must check up this

Booklet and ensure that it contains all the pages (1-80) and see that

50 ﬁge is missing or repeated. If you find any defect in this
00 .

et, you must get it replaced immediagely

. You will be supplied the Answer-Sheet separately by the Invigilator.

Before you actually start answcnrllf the you must comp
and code the details.of Name, Roll Number, Tickef Number, Name of
the examination as ioned in the admission-certificate, Date oj
birth, Test Form Number and Stream i.e. Civil and Structural O
Electrical OR Mechanieal etc., on_Side-I of the Answer-Sheet
carefully. You must also put your signatures and left hand thumb
impression on the Answer-Sheet at-the prescribed place before you
start answering _the questions. These instructions must be fully
complied with, failing w 1ch,10u: Answer-Sheet will not-be evaluated
and you will be awarded ‘ZERO’ mark.
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TEST (i) : GENERAL INTELLIGENCE AND REASONING

Directions : In questions no. 1 to 8, select the

related word/letters/number from the given
alternatives.
1. CAT:BIG::DDY:?
(A) CLL (B) CLM
(C) CML (D) CEP
2. 1:1_::10:?
(A) 12 (B) 110
(C) 210 (B) 1000
3. . T:56::5:7
(A) 25 (B) 26
©) 30 (D) 35
) 4. Uttarakhz.md : Dehradun : : Mizoram : ?
(A Aizawl (B) Kohima
(C) Shillong (D) Darjeeling
5. 'Crimq:Court::Disease_:?v
(A) Doctor (B) Medicine
©) Hospi?;al (D) Treatment
6. YQXP:JBIA::OVNU:?
(A) FAGZ - (B) HRIS
(€) DKCJ (D) DNEO
7. ADGJ:BEHK::DGJM:?
(A) KPUB (B) GJMP
(C) KNQT (D) PSVY
8. ACE:BDF::GIK:?
(A) HIL (B) AXP
(C) CFG (D) GFC
9. The follo;aving numbers fall in a group. Which
one does not belong to the group ? :
53, 63, 83, 73
(A) 53 (B) 63
(C) 83 (D) 73
10. Which one is the same as Mumbai, Kolkata

and Cochin ?
(A) Delhi
(C) Chennai

(B) Kanpur
(D) Sholapur

Directions : In questibns no. 11 to 17, find the odd

word/letters/number  pair from the given
alternatives.
11. (A) vwgp (B) yxmn
(C) gfkl (D) cbrs
12. (A) (324,18) (B) (441,72)
(C) (117,81) (D) (186, 14)
13. (A) (11,121) (B) (25, 625)
(©) (12,141) (D) (15, 225)
14. (A) Kolkata (B) Vishakhapatnam
(C) Bengaluru (D) Haldia
15. Carrot, Cabbage, Potato, Ginger, Beetroot
(A) Cabbage (B) Carrot
(C) Potato (D) Beetroot
16. (A) HGFE (B) PONM
(C) DCBA (D) MSTU
17. (A) GFI (B) VUX
(C) POR (D) LKM
18. Which one of the given responses would be a
meaningful order of the following words ?
1.  Sowing 2. Tilling
3. Reaping 4. Weeding
A) 3,1,2,4 B 2,1,4,3
©) 1,2,4,3 D) 1,3,2,4
19. Find the smallest number which when
divided by 25, 40 or 56 has in each case 13 as
remainder.
(A) 1413 (B) 1400
(C) 1439 (D)- 1426
20. Arrange the following words as per order in

the dictionary :

1. Emplane 2. Empower
3. Embrace 4. Elocution
5. [Equable

(A) 5,1,8,2,4 (B) 4,2,1,3,5

(C) 4,3,1,2,5 D) 4,5,2,3,1
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21.

Arrange the colours of the rainbow (in the
reverse order) (from the top edge) :

Red, Orange, ......

1. Blue 2. Indigo

3. Yellow 4. Green

5. Violet

(4) 3,4,1,2,5 (B) 4,3,2,5,1
©) 5,3,4,2,1 D) 2,4,3,1,5

Directions : In questions no. 22 to 24, a series is

given, with one term missing. Choose the correct

alternative from the given ones that will complete

the series.
22. B-1,D-2,F-4 H-8,J-16, ?
(A) K64 - (B) L-32
(C) M-32 (D) L-64
23. CGJ,KOR,TXA, ?
(A) ACE (B) JDP
(C) FIM (D) UWY
24. CEG,JLN,QSU, 2
(A) QQs (B) TVX
(C) HIL ) vvw

Directions : In questions no. 25 to 29, find the
missing number from the given responses.

(A) 422
(C) 256

(B) 374
(D) 342

217.

28.

29.

‘30.

8
Ftl A8 g
43 13
b ¢
5
A) 56 B) 57
(©) 58 D) 59
11 29 121
slosle s|57|3 6 25
5 20 %
A) 176 ®) 115
(C) 157 D) 131
63
7]ol1
sl1]|7]2
4a) 3 B 9
©) 5 O 2
2 | 9
2 | 13
(A) 40 (B) 38
©) 39 D) 44

Arrange the letters to form a word and
suggest what is it.

NGDEALN
(A) State (B) Country
(C) River (D) Ocean
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31.

32.

33.

35.

36.

37.

(&) 19

Find the odd number out :
18, 34, 36, 54
(&) 34 (B) 54
(C) 18 (D) 36

Introducing a girl, Ram said to his son-in-law,
“Her brother is the only son of my
brother-in-law.” Who is the girl of Ram ?

(A) Sister-in-law (B) Niece
(C) Daughter (D) Sister

IfA=1,B=2and N = 14, then BEADING =?
(A) 21541497  (B) 2514(14)79
() 2514914)7 (D) 2154(14)79

IfA=1,AGE = 13, then CAR =7
(B) 20

©) 21 (D) 22

If an electric train runs in the direction from
North to South with a speed of 150 km/hr
covering 2000 km, then in which direction

will the smoke of its engine go ?
A) N5 S (B) 85N

©) E-W (D) No direction

[f1=1,2=3 3=6md4=7,then5=?
@ 9 ®) 7
© 5 D) 8

Find the answer of the following :
T+3=421
1147=477°
9+5=445
6+2=?

(A) 444

(C) 475

(B) 412
(D) 487

| 39.

38. Murthy drove from town A to town B. In the
first hour, he travelled i— of the journey. In
the next one hour, he travelled -;— of the

journey. In the last 30 minutes, he travelled
80 km. Find the distance of the whole

journey.
(A) 240 km (B) 300 km
(C) 320 km (D) 360 km

Identify the answer figure from which the
pieces given in question figure have been cut.

Question figure :
L7

Tt
ANN

Answer figures :

(4) (B) © D)

Which of the following are the lines of
symmetry ?

C
A —v .
A B
G _/\F
D g
(A) ABand CD
(B) EF and GH

(C) All of the above
(D) None of the above
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41. Which figure represents the relation among

Computer, Internet and Information-
Communication Technology ?

o (D

i) Cé)

42. Which of the answer figures is not made up
only by the components of the question
figure ?

Question figure :
Answer figures :
(&) (B) © (D)

43. Which of the following numbers is present

only in the square and the circle ?

5
PR
2
[\
(A) 5 B) 4
© 3 ) 2

Directions : In questions no. 44 and 45, one or two
statements are given, followed by three/four
Conclusions ! Arguments, L, II, III and IV. You have
to consider the statements to be true, even if they
seem to be at variance from commonly known facts.
You are to decide which of the given
Conclusions | Arguments can definitely be drawn
from the given statement(s). Indicate your answer.

44. Statements:
1. SAGE is a reputed publisher of both

journals and books.

9. All publishing of SAGE is highly
qualitative.

Conclusions :

I. SAGE publishes qualitative articles.

II. SAGE did not publish lowest quality -

articles.

SAGE enriches its publications by high
scrutinization.

1L

(4)
B)
©)
D)

Only conclusion ur
‘All conclusions

Only conclusions I and II

Only conclusions IT and IIT

45. Statement :

Should little children be loaded with such
heavy school bags ? :

Arguments :
I.  Yes, a heavy bag means more knowledge.

II. No, heavy school bags spoil the posture
of the children.

Yes, children need to be adapbed‘ for
earning knowledge..

No, a heavy bag never
knowledge gathering.

III.

V.

(A)
(B)
©
D

1 and III appear to be strong arguments
I and III are poor arguments

1I and IV are strong arguments

1 and IV are strong argument,s‘

ensures
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Directions : In questions no. 46 and 47, which
answer figure will complete the pattern in the
question figure ?

46. Question figure :

L]

Answer figures :
A) (B) ©) (D)
47. Question figure :
?
Answer figures :
(A (B) ©) (D)
48. A piece of paper is folded and cut as shown

below in the question figures. From the given
answer figures, indicate how it will appear
when opened.

Question figures :

1,

..... eaaad

Answer figures :

o il 0 O
o[ o) p [ q (0Oo) (@[ ]o
O (©] O
(A) (B) ©) (D)

49.

50.
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In the following question, a matrix of certain
characters is given. These characters follow a
certain trend, row-wise or column-wise. Find

out this trend and choose the missing

character accordingly.
9|10]5
5|161|4
46| 4
536|660| ?
(A) 450 (B) 550
(C) 320 (D) 420

If a mirror is placed on the line MN, then
which of the answer figures is the correct

image of the question figure ? .-

Question figure :

= SOONONNNNNNNNYN z

Answer figures :

il

(4)

B) © D)






